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Question Paper Code : A 3814

BB Tk DEGREE EXAMINATION, APRILALAY 3030,
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2. IfA={0 2 6|, find the eigenvalues of A%,
oos

Find the dircction cosines of the line joining the points (1,2, 3) and (2, 4, ).
4. Find the centre and radius of the sphere x* + y* +2* — 4x + 6y + 82 +4 = 0.
5. Find the envelope of the family of straight lines y=mx + | m being the

parameter,

6. Define an cvolute of a curve,

T Iu=x'sy, where x

— N -
B Find 553w =%y, where x* 4 xy+
Find it = xy, why ey

9. Find the particular integral of (D? + 4}y = sin2x.
10, Solve ¥ 5"+ 6y = 0.
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()  Find the eigenvalucs and eivenvectors of amatrix A=|1 -2 4|. (10)
b5
. I
i) Verit CayleyHamiltonthore for A ) ®
[
or

Reduce the quadratic form 63 +8y* + 2% - 4xy ~2y2 + 42x into a
canonical form by an orthogonal transformation. Also find the nature,
index and signature of a quadratic form, a6

@ Show that the straight lines and

Be-2yeze 2543y + 42 -4 are coplanar. Find their point
of intersection and the plane in which they lie. ®
() Prove that the plane 2c-2y+2+12=0 touches the sphere
x4y 2% 2% dy+ 22 ~B=0. Also find the point of contact. (3)

or
() Find the length and the cquations of the shortest distance betaveen
ERTHEE U £ JUP ST N £S LI

the lines.

i) Show that the sphere x7+7+e'+6y+2es8=0 and
X745t 42 +6x+8y+ 424200 cut orthogonally. Find their
plane of intersection. )

() Find the radius of curvature ac any point of the cycloid
x=alg+sin0), y=afi - cos0) ®

@) Find the envelope of , where the parameters a.b arc

related by a® +b* = ¢*, ¢ being known constant. @
or

@) Find the cnvelope of the family of straight lines

at b ®

G Show that the cvolute of the curve x=alcosd+Osind),
(sin & - Bcos 0) is a circle. @
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16 2 = f{x, y), where x = reosd, y = rsing, show that
EECRGEEE) ©

Find the maxima and minima of f(x,

atayt a2t gyt
®
or

Expand ¢*log{t + 3) in powers of x andl ¥ upto terme of third
dogree. ®

Find the minimum value of * +* + 2% when x +y +2=3a. ()

5D +6)y = e cos2x )

Solve {

Solve (12D 33D+ 4)y = «* sinflog.x). ®

or

Solve ¥ 4y = tan:x by the method of variation of parameters. ()

dx dy
olve %4y = sint, x + 2 2 o, ®)
Solvo vy =sint, x4 8 < cont ®
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